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) =
[ef ()]’ =

() £ gGOY =
gl =

fO) _
g(x)

[F(ge0)] =

[sinx] =

[cosx]" =
[tanx]' =
[cotx]’ =
[secx]” =

[cscx] =

[e™) =
[a*] =
[Inx] =

[log,, x]" =

[arcsinx]’ =
[arctan x]’ =
[arcsecx] =
[arccos x]’ =
[arccotx]’ =

[arcescx]’ =
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The Chain Rule, cont.

24
18. f(x) = =3V2 — 9x

t2
32. h(t) = (t3 m 2)

50. h(x) = x?
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66. y = sin /x + Vsinx

46. g(t) = e=3/t°

1+e*
48.y=ln( )

1 —e*

58. y=Ine”*
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55
32!2
46. f(t) = e
54 1 1
. = 10
24, Y 0810 x
5.8

44. f(x) = arcsec2x

48, h(x) = x?arctanx
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1 t
52. y=In(t?+4) — Sarctan

1
56. y = x arctan 2x — Zln(l + 4x?)

5.4 — Find the second derivative

1
80. f(x) = p—"
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82. f(x) =sec’mx = ESQC -“-x-]z

fo= 25ec1r)( SecTXtanTTx -r

QTl)éec -WXEM 1T)(> (Se c,"m

£'09 = 27{3« X S KT +{a?wx (?nscc

= 2msec X + 41 seC AXARATTX

5.4 Find the equation of the tangent line to the graph

of f at the indicated point.
78. f(x) = tan?x ;‘(g, 1) (7— ,
* (tanx) o
| —

) = 2tanx - sec?x 5
=) = :Hm(lr) (SecI>
-a 1)(@ T

g ><> -
y=1=4(x-T) 4 7
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Relang the graph of a funcon to the graph of its derivave

(2.2#71-72; 2.3#99-100; 2.4#83-86)
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